
Genetics and Monohybrid Cross Practice

Part I: Genetics Practice

1. For each genotype below, indicate whether it is heterozygous (He) or homozygous (Ho.)

AA____

Ee____

Ii____


Mm____

Bb____

ff____


Jj____


nn____

Cc____

Gg____

kk____


oo____

DD____

HH____

LL____

Pp____

2.  For each of the genotypes below, determine what phenotypes would be possible.

Purple flowers are dominant to white flowers
Brown eyes are dominant to blue eyes


PP_________________



BB________________


Pp_________________



Bb________________


pp_________________



bb________________

Round seeds are dominant to wrinkled seeds.

Bobtails in cats are recessive.


RR_________________



TT________________


Rr__________________



Tt________________


rr_________________



tt_________________

3. For each phenotype below, list the genotypes. (Remember to use the letter of the dominant trait)

Straight hair is dominant to curly

Pointed heads are dominant to round heads

______straight




______pointed

______straight




______pointed

______curly





______round

Part II: Monohybrid Cross Practice
Directions:  Use a punnett square to find the answers to the following problems.  Show all of your work.

1. The characteristic of brown hair is dominant to blonde hair.  A man who is heterozygous for brown hair marries a woman who has blonde hair.  If they have four children, how many would you expect to have blonde hair? ______________


Alleles: Dominant ______________________ 
Recessive __________________


Parent Genotypes:

_____________ x ____________


Genotypic ratio: ______________________

Phenotypic ratio: ______________________

2. In some dog breeds long hair is dominant to short hair.  A male dog with who is a carrier for short hair is mated to a female that is heterozygous for long hair.  What percentage of their puppies would you expect to have long hair? ________________


Alleles: Dominant ______________________ 
Recessive __________________


Parent Genotypes:

_____________ x ____________


Genotypic ratio: ______________________

Phenotypic ratio: ______________________

3. In chickens, yellow legs (L) are dominant over white legs (l). A homozygous yellow legged rooster was crossed with a white legged hen. How many of their offspring would you expect to have white legs? ___________


Alleles: Dominant ______________________ 
Recessive __________________


Parent Genotypes:

_____________ x ____________

Genotypic ratio: ______________________

Phenotypic ratio: ______________________

4. Yellow pea pods are dominant over green pods. A heterozygote is crossed with a homozygous dominant plant. What percentage of the F1 generation will be yellow? ________


Alleles: Dominant ______________________ 
Recessive: __________________


Parent Genotypes:

_____________ x ____________


Genotypic ratio: ______________________

Phenotypic ratio: ______________________

5. In humans, good eyesight is dominant over bad eyesight. A woman who wears glasses marries a man who has normal vision but is a carrier for bad eyesight.  What percentage of their children might have bad eyesight? ___________________


Alleles: Dominant ______________________ 
Recessive:  __________________


Parent Genotypes:

_____________ x ____________

Genotypic ratio: ______________________

Phenotypic ratio: ______________________

6. In humans premature gray hair is dominant over normal hair coloring. Cross a homozygous premature gray haired person to a homozygous normal haired person.


Alleles: Dominant ______________________ 
Recessive: __________________


Parent Genotypes:

_____________ x ____________


Genotypic ratio: ______________________

Phenotypic ratio: ______________________

Part III: Extra Practice
Directions:  Use a punnett square to find the answers to the following problems.  Show all of your work.

7. The characteristic of free earlobes is dominant to attached earlobes.  A man who is homozygous for free earlobes marries a woman who has attached earlobes.  If they have four children, how many would you expect to have free earlobes? ______________


Alleles: Dominant ______________________ 
Recessive __________________


Parent Genotypes:

_____________ x ____________


Genotypic ratio: ______________________

Phenotypic ratio: ______________________

8. In chickens a rose comb is dominant to a single comb.  A rooster with a single comb is mated to a hen that is homozygous for a rose comb.  What percentage of their chicks would you expect to have a single comb? ________________


Alleles: Dominant ______________________ 
Recessive __________________


Parent Genotypes:

_____________ x ____________


Genotypic ratio: ______________________

Phenotypic ratio: ______________________

9. That same rooster from #8 with a single comb is mated to another hen that is heterozygous for a rose comb.  What percentage of the chicks from this mating would you expect to have a single comb? ___________


Alleles: Dominant ______________________ 
Recessive __________________


Parent Genotypes:

_____________ x ____________

Genotypic ratio: ______________________

Phenotypic ratio: ______________________

10. An albino woman marries a man who has normal skin pigment with no history of albinism in his family.  What percentage of their children would you expect to be albino? ________


Alleles: Dominant ______________________ 
Recessive: __________________


Parent Genotypes:

_____________ x ____________


Genotypic ratio: ______________________

Phenotypic ratio: ______________________

Name: _________________________ Period: _____ Date: ______________           Doc. #: 43
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